

SOME INEQUALITIES OF JENSEN-MERCER TYPE FOR CONVEX FUNCTIONS ON LINEAR SPACES

SILVESTRU SEVER DRAGOMIR^{1,2}

ABSTRACT. In this paper we extend Mercer's discrete inequality for univariate functions to the case of convex functions on convex subsets of linear spaces and provide some natural applications for norms.

1. INTRODUCTION

The Jensen inequality for convex functions plays a crucial role in the Theory of Inequalities due to the fact that other inequalities such as that arithmetic mean-geometric mean inequality, Hölder and Minkowski inequalities, Ky Fan's inequality etc. can be obtained as particular cases of it.

Let C be a convex subset of the linear space X and f a convex function on C . If $\mathbf{p} = (p_1, \dots, p_n)$ is a probability sequence and $\mathbf{x} = (x_1, \dots, x_n) \in C^n$, then

$$(1.1) \quad f\left(\sum_{i=1}^n p_i x_i\right) \leq \sum_{i=1}^n p_i f(x_i),$$

is well known in the literature as Jensen's inequality.

Recently the author obtained the following refinement of Jensen's inequality (see [8])

$$(1.2) \quad \begin{aligned} f\left(\sum_{j=1}^n p_j x_j\right) &\leq \min_{k \in \{1, \dots, n\}} \left[(1 - p_k) f\left(\frac{\sum_{j=1}^n p_j x_j - p_k x_k}{1 - p_k}\right) + p_k f(x_k) \right] \\ &\leq \frac{1}{n} \left[\sum_{k=1}^n (1 - p_k) f\left(\frac{\sum_{j=1}^n p_j x_j - p_k x_k}{1 - p_k}\right) + \sum_{k=1}^n p_k f(x_k) \right] \\ &\leq \max_{k \in \{1, \dots, n\}} \left[(1 - p_k) f\left(\frac{\sum_{j=1}^n p_j x_j - p_k x_k}{1 - p_k}\right) + p_k f(x_k) \right] \\ &\leq \sum_{j=1}^n p_j f(x_j), \end{aligned}$$

where f , x_k and p_k are as above.

¹1991 *Mathematics Subject Classification.* 26D15; 46B05.

Key words and phrases. Convex functions, Linear spaces, Jensen's inequality, Mercer's inequality, Norm inequalities.

The above result provides a different approach to the one that J. Pečarić and the author obtained in 1989, namely (see [23]):

$$\begin{aligned}
 (1.3) \quad f\left(\sum_{i=1}^n p_i x_i\right) &\leq \sum_{i_1, \dots, i_{k+1}=1}^n p_{i_1} \dots p_{i_{k+1}} f\left(\frac{x_{i_1} + \dots + x_{i_{k+1}}}{k+1}\right) \\
 &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f\left(\frac{x_{i_1} + \dots + x_{i_k}}{k}\right) \\
 &\leq \dots \leq \sum_{i=1}^n p_i f(x_i),
 \end{aligned}$$

for $k \geq 1$ and \mathbf{p}, \mathbf{x} as above.

If $q_1, \dots, q_k \geq 0$ with $\sum_{j=1}^k q_j = 1$, then the following refinement obtained in 1994 by the author [5] also holds:

$$\begin{aligned}
 (1.4) \quad f\left(\sum_{i=1}^n p_i x_i\right) &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f\left(\frac{x_{i_1} + \dots + x_{i_k}}{k}\right) \\
 &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f(q_1 x_{i_1} + \dots + q_k x_{i_k}) \\
 &\leq \sum_{i=1}^n p_i f(x_i),
 \end{aligned}$$

where $1 \leq k \leq n$ and \mathbf{p}, \mathbf{x} are as above.

For other refinements and applications related to Ky Fan's inequality, the arithmetic mean-geometric mean inequality, the generalised triangle inequality, the f -divergence measures etc. see [2]-[8].

In 2003, A. McD. Mercer [17] obtained the following inequality for convex functions of a real variable $f : [m, M] \subset \mathbb{R} \rightarrow \mathbb{R}$ and the finite sequences $x_k \in [m, M]$, and $p_k \geq 0$, $k \in \{1, \dots, n\}$ with $\sum_{k=1}^n p_k = 1$,

$$(1.5) \quad f\left(m + M - \sum_{k=1}^n p_k x_k\right) \leq f(m) + f(M) - \sum_{k=1}^n p_k f(x_k)$$

and applied it to derive a Ky-Fan's type inequality.

Since then, this result has attracted the attention of many authors that extended it for positive linear functionals and integrals [1], [15], [18], [24], in relation with majorization theory [22], for convex functions of selfadjoint operators in Hilbert spaces [14], [16], [19], [20] and for operator convex functions in Hilbert spaces [21] and [24].

Motivated by the above results, we extend this inequality for convex functions on convex subsets of linear spaces and provide some natural applications for normed spaces.

2. MAIN RESULTS

We have:

Theorem 1. *Let $f : C \subset X \rightarrow \mathbb{R}$ be a convex function on the convex subset C and $x, y \in C$. If $x_k := (1 - t_k)x + t_k y$ with $t_k \in [0, 1]$ and $p_k \geq 0$, $k \in \{1, \dots, n\}$ with*

$\sum_{k=1}^n p_k = 1$, then

$$\begin{aligned}
 (2.1) \quad f\left(x + y - \sum_{k=1}^n p_k x_k\right) &\leq \sum_{k=1}^n p_k f(x + y - x_k) \\
 &\leq \left[1 - \left(\sum_{k=1}^n p_k t_k\right)\right] f(y) + \left(\sum_{k=1}^n p_k t_k\right) f(x) \\
 &\leq f(y) + f(x) - \sum_{k=1}^n p_k f(x_k).
 \end{aligned}$$

Proof. By Jensen's discrete inequality we have

$$\begin{aligned}
 f\left(x + y - \sum_{k=1}^n p_k x_k\right) &= f\left(\sum_{k=1}^n p_k (x + y - x_k)\right) \leq \sum_{k=1}^n p_k f(x + y - x_k) \\
 &= \sum_{k=1}^n p_k f(x + y - (1 - t_k)x - t_k y) \\
 &= \sum_{k=1}^n p_k f(t_k x + (1 - t_k)y),
 \end{aligned}$$

which proves the first inequality in (2.1).

By making use of the convexity of f on C , we derive

$$\begin{aligned}
 \sum_{k=1}^n p_k f(t_k x + (1 - t_k)y) &\leq \sum_{k=1}^n p_k [t_k f(x) + (1 - t_k)f(y)] \\
 &= \left(\sum_{k=1}^n p_k t_k\right) f(x) + \left(1 - \sum_{k=1}^n p_k t_k\right) f(y),
 \end{aligned}$$

which proves the second inequality in (2.1).

Now, by the convexity of f we also have

$$f((1 - t_k)x + t_k y) \leq (1 - t_k)f(x) + t_k f(y)$$

for $k \in \{1, \dots, n\}$. If we multiply this inequality by $p_k \geq 0$, $k \in \{1, \dots, n\}$ and sum over k from 1 to n , then we deduce

$$\begin{aligned}
 (2.2) \quad \sum_{k=1}^n p_k f(x_k) &\leq \sum_{k=1}^n p_k [(1 - t_k)f(x) + t_k f(y)] \\
 &= \left(1 - \sum_{k=1}^n p_k t_k\right) f(x) + \left(\sum_{k=1}^n p_k t_k\right) f(y).
 \end{aligned}$$

Therefore, by (2.2)

$$\begin{aligned} & \left(\sum_{k=1}^n p_k t_k \right) f(x) + \left[1 - \left(\sum_{k=1}^n p_k t_k \right) \right] f(y) \\ &= f(y) + f(x) - \left[\left(1 - \sum_{k=1}^n p_k t_k \right) f(x) + \left(\sum_{k=1}^n p_k t_k \right) f(y) \right] \\ &\leq f(y) + f(x) - \sum_{k=1}^n p_k f(x_k), \end{aligned}$$

which proves the last part of (2.1). \square

Remark 1. We observe that the inequality (2.1) is equivalent to the inequality

$$\begin{aligned} (2.3) \quad \sum_{k=1}^n p_k f(x_k) &\leq \left[\left(1 - \sum_{k=1}^n p_k t_k \right) f(x) + \left(\sum_{k=1}^n p_k t_k \right) f(y) \right] \\ &\leq f(x) + f(y) - \sum_{k=1}^n p_k f(x + y - x_k) \\ &\leq f(x) + f(y) - f \left(x + y - \sum_{k=1}^n p_k x_k \right), \end{aligned}$$

where $f : C \subset X \rightarrow \mathbb{R}$ is a convex function on the convex subset C , $x, y \in C$, $x_k := (1 - t_k)x + t_k y$ with $t_k \in [0, 1]$ and $p_k \geq 0$, $k \in \{1, \dots, n\}$ with $\sum_{k=1}^n p_k = 1$.

Since the distance between the extreme terms is greater than the distance between the internal ones, we can state the following corollary as well:

Corollary 1. With the assumptions of Theorem 1 we have

$$\begin{aligned} (2.4) \quad 0 &\leq \left[1 - \left(\sum_{k=1}^n p_k t_k \right) \right] f(y) + \left(\sum_{k=1}^n p_k t_k \right) f(x) - \sum_{k=1}^n p_k f(x + y - x_k) \\ &\leq f(y) + f(x) - \sum_{k=1}^n p_k f(x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right). \end{aligned}$$

Further on, we recall the following result obtained by the author in [10] that provides a refinement and a reverse for the weighted Jensen's discrete inequality:

$$\begin{aligned} (2.5) \quad & n \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\frac{1}{n} \sum_{i=1}^n \Phi(x_i) - \Phi \left(\frac{1}{n} \sum_{i=1}^n x_i \right) \right] \\ &\leq \frac{1}{P_n} \sum_{i=1}^n p_i \Phi(x_i) - \Phi \left(\frac{1}{P_n} \sum_{i=1}^n p_i x_i \right) \\ &\leq n \max_{i \in \{1, \dots, n\}} \{p_i\} \left[\frac{1}{n} \sum_{i=1}^n \Phi(x_i) - \Phi \left(\frac{1}{n} \sum_{i=1}^n x_i \right) \right], \end{aligned}$$

where $\Phi : C \rightarrow \mathbb{R}$ is a convex function defined on the convex subset C of the linear space X , $\{x_i\}_{i \in \{1, \dots, n\}} \subset C$ are vectors and $\{p_i\}_{i \in \{1, \dots, n\}}$ are nonnegative numbers with $P_n := \sum_{i=1}^n p_i > 0$.

We also have:

Theorem 2. *With the assumptions of Theorem 1 we also have*

$$\begin{aligned}
(2.6) \quad & f\left(x + y - \sum_{k=1}^n p_k x_k\right) \\
& \leq \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f\left(x + y - \frac{1}{n} \sum_{k=1}^n x_k\right) \right] \\
& + f\left(x + y - \sum_{k=1}^n p_k x_k\right) \\
& \leq \sum_{k=1}^n p_k f(x + y - x_k) \leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k).
\end{aligned}$$

Proof. By the convexity of f we have

$$f(x + y - x_k) + f(x_k) \leq f(x) + f(y)$$

for $k \in \{1, \dots, n\}$.

Indeed, since $x_k = (1 - t_k)x + t_k y$, then

$$\begin{aligned}
f(x + y - x_k) + f(x_k) &= f(x + y - (1 - t_k)x - t_k y) + f((1 - t_k)x + t_k y) \\
&= f(t_k x + (1 - t_k)y) + f((1 - t_k)x + t_k y) \\
&\leq t_k f(x) + (1 - t_k)f(y) + (1 - t_k)f(x) + t_k f(y) \\
&= f(x) + f(y),
\end{aligned}$$

for $k \in \{1, \dots, n\}$.

If we multiply this inequality by $p_k \geq 0$ and summing over k from 1 to n , then we get

$$\sum_{k=1}^n p_k f(x + y - x_k) + \sum_{k=1}^n p_k f(x_k) \leq f(x) + f(y),$$

namely

$$\sum_{k=1}^n p_k f(x + y - x_k) \leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k).$$

This implies that

$$\begin{aligned}
(2.7) \quad & \sum_{k=1}^n p_k f(x + y - x_k) - f\left(x + y - \sum_{k=1}^n p_k x_k\right) \\
& + f\left(x + y - \sum_{k=1}^n p_k x_k\right) \\
& \leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k).
\end{aligned}$$

If we apply the first inequality in (2.5) for the convex function $\Phi(t) = f(x + y - t)$, $t \in [x, y]$ then we have

$$(2.8) \quad 0 \leq \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \\ \leq \sum_{k=1}^n p_k f(x + y - x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right)$$

By making use of (2.7) and (2.8) we get the desired result (2.6). \square

We also have:

Corollary 2. *With the assumptions of Theorem 2, we have*

$$(2.9) \quad 0 \leq \sum_{k=1}^n p_k f(x + y - x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ - \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \\ \leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right).$$

The proof follows by Theorem 2 observing that the difference between the extreme terms is greater than the difference between the internal ones.

Remark 2. *Now, observe that by (1.3),*

$$(2.10) \quad f \left(x + y - \sum_{i=1}^n p_i x_i \right) \\ \leq \sum_{i_1, \dots, i_{k+1}=1}^n p_{i_1} \dots p_{i_{k+1}} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_{k+1}}}{k+1} \right) \\ \leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_k}}{k} \right) \\ \leq \dots \leq \sum_{i=1}^n p_i f(x + y - x_i),$$

and therefore by (2.9) we get the following chain of inequalities

$$(2.11) \quad 0 \leq \sum_{i_1, \dots, i_{k+1}=1}^n p_{i_1} \dots p_{i_{k+1}} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_{k+1}}}{k+1} \right) \\ - f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ - \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right]$$

$$\begin{aligned} &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_k}}{k} \right) - f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ &- \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \\ &\dots \end{aligned}$$

$$\begin{aligned} &\leq \sum_{k=1}^n p_k f(x + y - x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ &- \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \\ &\leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k) - f \left(x + y - \sum_{k=1}^n p_k x_k \right), \end{aligned}$$

provided that $f : C \subset X \rightarrow \mathbb{R}$ is a convex function on the convex subset C , $x, y \in C$, $x_k := (1 - t_k)x + t_k y$ with $t_k \in [0, 1]$ and $p_k \geq 0$, $k \in \{1, \dots, n\}$ with $\sum_{k=1}^n p_k = 1$.

Also, by (1.4),

$$\begin{aligned} (2.12) \quad f \left(x + y - \sum_{i=1}^n p_i x_i \right) &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_k}}{k} \right) \\ &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f(x + y - (q_1 x_{i_1} + \dots + q_k x_{i_k})) \\ &\leq \sum_{i=1}^n p_i f(x + y - x_i), \end{aligned}$$

which by (2.9) produce the following sequence of inequalities

$$\begin{aligned} (2.13) \quad 0 &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f \left(x + y - \frac{x_{i_1} + \dots + x_{i_k}}{k} \right) \\ &- f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ &- \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \\ &\leq \sum_{i_1, \dots, i_k=1}^n p_{i_1} \dots p_{i_k} f(x + y - (q_1 x_{i_1} + \dots + q_k x_{i_k})) \\ &- f \left(x + y - \sum_{k=1}^n p_k x_k \right) \\ &- \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x + y - x_k) - n f \left(x + y - \frac{1}{n} \sum_{k=1}^n x_k \right) \right] \end{aligned}$$

$$\begin{aligned}
&\leq \sum_{k=1}^n p_k f(x+y-x_k) - f\left(x+y - \sum_{k=1}^n p_k x_k\right) \\
&- \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n f(x+y-x_k) - n f\left(x+y - \frac{1}{n} \sum_{k=1}^n x_k\right) \right] \\
&\leq f(x) + f(y) - \sum_{k=1}^n p_k f(x_k) - f\left(x+y - \sum_{k=1}^n p_k x_k\right),
\end{aligned}$$

where $q_1, \dots, q_k \geq 0$ with $\sum_{j=1}^k q_j = 1$.

3. NORM INEQUALITIES

If we write the inequality (2.1) for the convex function $f(x) = \|x\|^p$, $p \geq 1$, where $\|\cdot\|$ is a norm on X , then we get

$$\begin{aligned}
(3.1) \quad \left\| x+y - \sum_{k=1}^n p_k x_k \right\|^p &\leq \sum_{k=1}^n p_k \|x+y-x_k\|^p \\
&\leq \left[1 - \left(\sum_{k=1}^n p_k t_k \right) \right] \|y\|^p + \left(\sum_{k=1}^n p_k t_k \right) \|x\|^p \\
&\leq \|y\|^p + \|x\|^p - \sum_{k=1}^n p_k \|x_k\|^p,
\end{aligned}$$

where $x, y \in X$, $x_k := (1-t_k)x + t_k y$ with $t_k \in [0, 1]$ and $p_k \geq 0$, $k \in \{1, \dots, n\}$ with $\sum_{k=1}^n p_k = 1$. This implies that

$$\begin{aligned}
(3.2) \quad 0 &\leq \left[1 - \left(\sum_{k=1}^n p_k t_k \right) \right] \|y\|^p + \left(\sum_{k=1}^n p_k t_k \right) \|x\|^p - \sum_{k=1}^n p_k \|x+y-x_k\|^p \\
&\leq \|y\|^p + \|x\|^p - \sum_{k=1}^n p_k \|x_k\|^p - \left\| x+y - \sum_{k=1}^n p_k x_k \right\|^p.
\end{aligned}$$

Also, with the same assumptions for $x, y \in X$, x_k and $p_k \geq 0$, $k \in \{1, \dots, n\}$, we have

$$\begin{aligned}
(3.3) \quad \left\| x+y - \sum_{k=1}^n p_k x_k \right\|^p &\leq \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n \|x+y-x_k\|^p - n \left\| x+y - \frac{1}{n} \sum_{k=1}^n x_k \right\|^p \right] \\
&+ \left\| x+y - \sum_{k=1}^n p_k x_k \right\|^p \\
&\leq \sum_{k=1}^n p_k \|x+y-x_k\|^p \leq \|y\|^p + \|x\|^p - \sum_{k=1}^n p_k \|x_k\|^p.
\end{aligned}$$

This implies that

$$\begin{aligned}
 (3.4) \quad 0 &\leq \sum_{k=1}^n p_k \|x + y - x_k\|^p - \left\| x + y - \sum_{k=1}^n p_k x_k \right\|^p \\
 &\quad - \min_{i \in \{1, \dots, n\}} \{p_i\} \left[\sum_{k=1}^n \|x + y - x_k\|^p - n \left\| x + y - \frac{1}{n} \sum_{k=1}^n x_k \right\|^p \right] \\
 &\leq \|y\|^p + \|x\|^p - \sum_{k=1}^n p_k \|x_k\|^p - \left\| x + y - \sum_{k=1}^n p_k x_k \right\|^p.
 \end{aligned}$$

REFERENCES

- [1] W. S. Cheung, A. Matković and J. Pečarić, A variant of Jensen's inequality and generalized means. *J. Inequal. Pure Appl. Math.* **7** (2006), no. 1, Article 10, 8 pp.
- [2] S. S. Dragomir, An improvement of Jensen's inequality, *Bull. Math. Soc. Sci. Math. Roumanie*, **34(82)** (1990), No. 4, 291-296.
- [3] S. S. Dragomir, Some refinements of Ky Fan's inequality, *J. Math. Anal. Appl.*, **163**(2) (1992), 317-321.
- [4] S. S. Dragomir, Some refinements of Jensen's inequality, *J. Math. Anal. Appl.*, **168**(2) (1992), 518-522.
- [5] S. S. Dragomir, A further improvement of Jensen's inequality, *Tamkang J. Math.*, **25**(1) (1994), 29-36.
- [6] S. S. Dragomir, A new improvement of Jensen's inequality, *Indian J. Pure and Appl. Math.*, **26**(10) (1995), 959-968.
- [7] S. S. Dragomir, *Semi-inner Products and Applications*, Nova Science Publishers Inc., NY, 2004.
- [8] S. S. Dragomir, A refinement of Jensen's inequality with applications for f -divergence measures, *Taiwanese J. Math.* **14** (2010), no. 1, 153-164.
- [9] S. S. Dragomir, A new refinement of Jensen's inequality in linear spaces with applications, *Math. Comput. Modelling* **52** (2010), no. 9-10, 1497-1505.
- [10] S. S. Dragomir, Bounds for the normalized Jensen functional, *Bull. Austral. Math. Soc.* **74**(3) (2006), 471-476.
- [11] S. S. Dragomir and N. M. Ionescu, Some converse of Jensen's inequality and applications. *Rev. Anal. Numér. Théor. Approx.* **23** (1994), no. 1, 71-78. MR1325895 (96c:26012).
- [12] S. S. Dragomir and C. J. Goh, A counterpart of Jensen's discrete inequality for differentiable convex mappings and applications in information theory, *Mathl. Comput. Modelling*, **24**(1996), No. 2, 1-11.
- [13] S. S. Dragomir, J. Pečarić and L. E. Persson, Properties of some functionals related to Jensen's inequality, *Acta Math. Hung.*, **70**(1-2) (1996), 129-143.
- [14] S. Ivelić, A. Matković and J. Pečarić, On a Jensen-Mercer operator inequality. *Banach J. Math. Anal.* **5** (2011), no. 1, 19-28.
- [15] M. A. Khan, R. A. Khan and J. Pečarić, On the refinements of Jensen-Mercer's inequality. *Rev. Anal. Numér. Théor. Approx.* **41** (2012), no. 1, 62-81 (2013).]
- [16] M. Kian and M.S. Moslehian, Refinements of the operator Jensen-Mercer inequality. *Electron. J. Linear Algebra* **26** (2013), 742-753.
- [17] A. McD. Mercer, A variant of Jensen's inequality, *Journal of Inequalities in Pure and Applied Mathematics*, vol. 4, article 73, 2003.
- [18] A. M. Maqsood and A.R. Khan, Generalized integral Mercer's inequality and integral means. *J. Inequal. Spec. Funct.* **10** (2019), no. 1, 60-76.
- [19] A. Matković and J. Pečarić, On a variant of the Jensen-Mercer inequality for operators. *J. Math. Inequal.* **2** (2008), no. 3, 299-307.
- [20] A. Matković, J. Pečarić and I. Perić, A variant of Jensen's inequality of Mercer's type for operators with applications. *Linear Algebra Appl.* **418** (2006), no. 2-3, 551-564.
- [21] A. Matković, J. Pečarić and I. Perić, Refinements of Jensen's inequality of Mercer's type for operator convex functions. *Math. Inequal. Appl.* **11** (2008), no. 1, 113-126

- [22] M. Niezgodna, A generalization of Mercer's result on convex functions, *Nonlinear Anal.*, **71** (2009), pp. 2771-2779.
- [23] J. Pečarić and S. S. Dragomir, A refinements of Jensen inequality and applications, *Studia Univ. Babeş-Bolyai, Mathematica*, **24** (1) (1989), 15-19.
- [24] I. Perić, On boundary domination in the Jensen-Mercer inequality. *J. Math. Inequal.* **9** (2015), no. 4, 983–1000.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: `sever.dragomir@vu.edu.au`

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL, AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE, & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND,, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA